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MATHS

BOOKS - SURA MATHS (TAMIL)

(&G mevoTail W6V

1. e sasuul(HeTen CaHMetoIhi&eT 6HaHdH  SMMHLIGE Wilev

SIEDILOW|LD 6T60TLI 6607 &IMT65018 25 °

° Watch Video Solution

2. QanmssuuLl (hemem  GCoHMeooihidheT  6hHghd SMTMHLIGE Wilev

SIEDILOWILD 6T60TLI 560601 &IMT65018 825 °

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BlwBBdEDZVzV
https://dl.doubtnut.com/l/_Fe4mjxL4cW0O

3. GanmssuuLl (hetem  GCoHMeooIhidheT  6hHdHd

S16DILOWLD 6T60TLIGHEDI60T ST6001&H — 55°

SMMHLI(G S wilev

° Watch Video Solution

4. QanBoHasULL(heTem  CaHMEToIhISET  61hH&&

S160)LOWLD 6T60TLIGH 60601 SMT60018 328 °

SMMHLI(G S wilev

° Watch Video Solution

5. QanBssluLl (heTem  CoHmeooimhidheT  6mhdhd

S160ILDOULD 6T60TLIG60)60T SM60018H — 230°

SMMHLI(G S wilev

° Watch Video Solution



https://dl.doubtnut.com/l/_Fe4mjxL4cW0O
https://dl.doubtnut.com/l/_jHfiRy6FkoRq
https://dl.doubtnut.com/l/_334puuwRDiO1
https://dl.doubtnut.com/l/_frSKovJWsHYx

6. 0<6<360°6lan(h&aIULL  eeubleun(h Camesorgd M (&L

Q60)6T0T (LDEDI6BTEN WIS CBHMET0TE,60)8) HM6ToTSH 395 °

° Watch Video Solution

7. 0<60<360°6aMh&HaUULL  eeubleunh CaHMesorsd) (&L

Q6016507 (LDEDI6BTEN WIS CBHMET0TE,60)8) HIT6TTSH 525°

° Watch Video Solution

8. 0<6<360°6lan(h&HalULL  eeubleun(h  Camesordd M (&L

Q6)6T0T (LPEDIEBTEN WIS CBHMETTTE,6M8) &HM6ToTd 1150°

° Watch Video Solution

9. 0<6<360°6lan(h&aILLL  eeubleun(h  Camesordd M (&L

Q616501 (LPEDI6BTEN WIS CBHT6T018,6M8) &HIT6ToTd — 270°

| e |


https://dl.doubtnut.com/l/_W9cnaVDfwUP5
https://dl.doubtnut.com/l/_5UzVon9EkP6A
https://dl.doubtnut.com/l/_hHZRsVMmNRU8
https://dl.doubtnut.com/l/_4okuNJkhhgZu

l L >4 Watch Video Solution J

10. 0<6<360°6aMn(hsaluUlL. eeubleun(h CaHMesorsd) M (L0

Q6016501 (LPEDI6BTEN WIS CHHT6TT18,6M) &HIT6ToTd — 450°

° Watch Video Solution

M. acosf — bsinf = cetesflev  asinf + beosh = + v/a? + b% +

6160TLIEN G, HIM)16)| &

° Watch Video Solution

4 — 3(m2 — 12)

12. sin@ + cos @ = mer6vilev cos® 0 + sin® 9 = 1

6T6EOTLIEN G, HlM)I6U& (Q kG m* < 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_4okuNJkhhgZu
https://dl.doubtnut.com/l/_Crkm0JtLZmNI
https://dl.doubtnut.com/l/_UsY0fcMgo5jR
https://dl.doubtnut.com/l/_9q7XKVOOSkqR

cos? a sin* o

13. + — leteoflev  sin' a + sin? B = 2sin® a sin? BerevT
cos2 8 sin®p
Himie|s

° Watch Video Solution

costa  sinta . cos? sin? B

14. + = lerevflev = 6l60T 645
cos? 8 sin®f cos? 8 sin’a Ho)
° Watch Video Solution
5.4 — 2sin o o 6,Ul—cosoz—i—sinoz_ 61601 16) &
Y= 1+ cosa + sina 1+ sina 4 mie

° Watch Video Solution

(] 99

16. tan’0 = 1 — k’eTevfl6usecd + tan® 6 cos ecld = (2 — k:2) 61607
Hmieys. Cey|b Qeumenm mlemmey blFwIWLD k Q65T Lo LIemLIS

SIT6501.

° Watch Video Solution



https://dl.doubtnut.com/l/_xdmgdnXXYX9o
https://dl.doubtnut.com/l/_TQaCQaN9NqXo
https://dl.doubtnut.com/l/_KNPYqGgV5pUN
https://dl.doubtnut.com/l/_xEpqkqdV7hdx

17. sec + tanf = perevflev  secd, tan 6, LOMM|LDsin A& W6 M) Mo

L&l Lenp Q66T eumuilevnsd &M6so1s

° Watch Video Solution

18. cot 0(1 + sinf) = 4miomm|bcot O(1 — sinh) = 4nereviley,

(m? — n2)2 = mn 61687 1511615

° Watch Video Solution

19. cosf — sinf = a3LDﬁ)@_|L'DseCG — cosnf = b 6160116V

a’b’(a® + b%) = 1 61601 HlMI6US

° Watch Video Solution



https://dl.doubtnut.com/l/_xEpqkqdV7hdx
https://dl.doubtnut.com/l/_4yOOOEDuIyvV
https://dl.doubtnut.com/l/_1qdPt9pnMXgR
https://dl.doubtnut.com/l/_dNlGu8J5J31K

20. asec — ctand = bomm|Lbbsect + dtand = cop&lwl

FLo6oTLMNB 868 (HH G| 03 HE (G .

° Watch Video Solution

21. LN6dT6U(THLD BB TETTIMISHEBI6M ShemJULIEST SH6rels6rflev snmig 30°

° Watch Video Solution

22. LiedTeU(hlD GSMETTIMEISHE6T SHEMITUIEST HeTeUSHelley Fn)|s

135°

° Watch Video Solution

23. LiledTeu(hlD GSMETTIMEISHEN6N SHEMITUIEST SH6TeUSHerlley Fn)|s

—205°

° Watch Video Solution



https://dl.doubtnut.com/l/_3DXmR0wH5gDs
https://dl.doubtnut.com/l/_7XmBIFOu0eRH
https://dl.doubtnut.com/l/_z0ZAoVQ7i0EC
https://dl.doubtnut.com/l/_ENr51pJSyXhs

24. LNedTeU(HLD GSHMETTIMEISHEN6IT SHEMITUIEST HeTeUSHeley Fn)|s

150°

° Watch Video Solution

25. LiledTeu(IhlD G&METTIMAISHED6IT SHEMITUIEST HeTeUSH6ley Fn)|s

330°

° Watch Video Solution

26. UletToU(HD GoHM6TTIMISHEMENT  ShHeMTUIET Si6Temel  LIMemd

. . 0
916686116V &HM6soTH 3

° Watch Video Solution



https://dl.doubtnut.com/l/_ENr51pJSyXhs
https://dl.doubtnut.com/l/_JvxvbFbi6QXQ
https://dl.doubtnut.com/l/_oH035IzvlmFd
https://dl.doubtnut.com/l/_PbfdRjUJXWxc

27. Netteu(hD CHMETOTRIHEDIET  SHEDITWIEST SI6Mete  LIMemd

. . 0
916686116V &M6soTsH 9

° Watch Video Solution

28. UletTou(hlD GoHMETTIMISHEMET  SHeMTWIET Si6Temel  LIMemd

2
916686116V &HM6soTH ?W

° Watch Video Solution

29. UletTeu(hlD GHMETTIMISHEMET  SHEMTWIETT Si6Temel  LIMemd

916686116V &HMesoTdH %ﬁ

° Watch Video Solution

30. LilesToU(HD CHMETTIMRIZHEDIET  SHEDIJWEET  Slememel  LIMemd

. . 107
916686116V &HM6soTH 5

| e |


https://dl.doubtnut.com/l/_42n19tyPqsAl
https://dl.doubtnut.com/l/_v9cCmY0Mm7Vc
https://dl.doubtnut.com/l/_Apg0SaYwQ3DI
https://dl.doubtnut.com/l/_172gGqLYLbEO

I & Watch Video Solution

31. ®(h SL&6T iy 1 &) .10 -96 HL&HS all L (B LMmgemnw 5
wenm gmn) eugGeuessT(HLD eT6viley aULl L e(h LIMenGUl6dT SbIJLD

6T60T60T?

° Watch Video Solution

32. ®(H QUL LGF6tT aflL_L LD 4061810 & (H mHhessiledt Hermb 2061&

L5 616376V, AW efl6veV 65T IHEMH 6018 STETTIS

° Watch Video Solution

33. 1060 .15 SHyWeOLW eIl L&Hev22 6& .15 HempemLw
el Lealley emwwsHIlev MG GCoHmestIdengll LiMensWileu

SIT660TSH

° Watch Video Solution



https://dl.doubtnut.com/l/_172gGqLYLbEO
https://dl.doubtnut.com/l/_bFlY86bewc1z
https://dl.doubtnut.com/l/_FfCHgvQkHoQa
https://dl.doubtnut.com/l/_3sYGM6ZzrwEL

34. 1091l SHJD 6l&HM6eToIL. 6(H UL L §6v.H = 41°-3 emOWSH

CarMewBILONG:S 61&MeoTL 6UL_L 6)l6V6Sl 65T HEMTLD SM6toIs

o Watch Video Solution

35. Qretoi(h UL L MiGefley, 60) Siemey 6lamesoil  alleuell 6ot
Hemraiget  60°LMHMID  75°-8  eDWWS  CHMTETOIMIHETSHS),
SHMMHIGELNG|  Seuail(h  QULLMISEHSHSHTETT  ShJrhlSer 6ot

&1 GLD SHM65018?

o Watch Video Solution

36. p(1h 6UL L Gamevorll LI(&&Hwlest ammereyLd $168 Shj(LpemL Ul
sl gdletT aNeveflest HeM(LPD FLOD 616516, SHeUaUL L&
Comesorll LGS W6t emwWEH CHMETOIGHMNGLI LIMTeMS, &H6D6V

LOMMILD eil&Hemr6ermuiley &M6so1s?

o Watch Video Solution



https://dl.doubtnut.com/l/_6kIP1Xn4lTku
https://dl.doubtnut.com/l/_SNr72xiIkLdZ
https://dl.doubtnut.com/l/_43lOhcarixND

37. @b &ilnesgeng QUWSHGLD (LP6et1g6Terl 6(H MIOILSSH MG
1000(p6emdm  &LPEVSIMEG|.  (P6dT  Getenuiledst  (LpemeoTLiL|eiTer]
GLpeusleaTmELINg|  @hH llBMgHE 615HHEMET  LIMEDSHSHET

SO &(GLD &M60015

o Watch Video Solution

38. 665 .15 /loevofl ChI7 CousgElev 150015 .ShJID 61&HM6EBIL & (T
QUL LU Umenguwiley & (H eIGMLjeuesorly QuwsHsLUL(BSIME]| 6T6oil6v

, 20/HLOIL_5 56V 218)| HL&(GLD CoT650T8 60185 &IT65015.

o Watch Video Solution

39. 8618 .5 SpMMLD LOMMILD 6L L5 .GLqLo6dT E1&MesoTL (T UL L
aUlg6l 2 Ceunag) L Igem6dT 2 (ThéH& 16618 L5 SHIJLD MM 48] LS
HLGLO6BT 2 60 W &(H 6UL L& GCamesorll LIGglemnw 2 (h&HS6o1mev

SledeUl L Gamesorll LG8\ ullest Ca Moot SHemenIel &M65o18

| o WMl L\ Ol ikl n


https://dl.doubtnut.com/l/_gP1fGLlOj8V4
https://dl.doubtnut.com/l/_6wUpVSUrvBVm
https://dl.doubtnut.com/l/_zjd3GHLxBtFa

& ____yvalllil VIUCU JViutuiviil

40. LG LIL&H6D6TTE SIT60018:sin(480°)

o Watch Video Solution

41. D LILGED6TE SM6vo18:sin( — 1110°)

o Watch Video Solution

42. D&\ LIL|56M6ME BM6so18:cos

o Watch Video Solution

43. L0Z)LILI56061TS SMTevoTs:tan(1050°)

o Watch Video Solution



https://dl.doubtnut.com/l/_zjd3GHLxBtFa
https://dl.doubtnut.com/l/_rgE2i3ZrFzF4
https://dl.doubtnut.com/l/_xyotouWvZ3BH
https://dl.doubtnut.com/l/_eI3A7Msdk4oY
https://dl.doubtnut.com/l/_uRflHUVgMR2u
https://dl.doubtnut.com/l/_QMMMcTQIvMqT

44, 108 1L &60)61T& SIT60018:cot (660°)

° Watch Video Solution

45. L0 LIL&H6e0)6MTS SIT6vo1&h:tan((19pi)/3)’

° Watch Video Solution

46. LG LILI&H6D)6ITS SIM6v01&:sin(-(11pi)/3)’

° Watch Video Solution

47. glLLmhlemevuilev 2 6T fedT (Lp6mIEOTLLILI u&a:to(;, ﬁ)
eTeoTm) Llefmerll  Glaeuaslmg| erevllev 661 <bm| (P&HGSHMeTTIANULIGY

G 60T DG LILISH6016TTE &IT650TE

o Watch Video Solution



https://dl.doubtnut.com/l/_QMMMcTQIvMqT
https://dl.doubtnut.com/l/_qj2hvNzmquWX
https://dl.doubtnut.com/l/_mOxaQoWvazcg
https://dl.doubtnut.com/l/_tpR1T0mOXzZL
https://dl.doubtnut.com/l/_paDWl6Xr57if

48. Lesteuqpd  gmjllest  wHULNMEG, LOHMH  BHS
1
WP &CaMetTTaNWEy FMILSHEN6ME &HT6501&.cos § = —5 0 epesTMILD

SHMMHLIG S W6V 2 6Terng)|

o Watch Video Solution

49, Lil6tT6U (THLD gmijLilesr LN MG, LOMmM DHG|
2
((OEIEN Gaa RN ML &6em6ns &IM6B015.cos 0 = 3 O(Lp &6Y

SHMMHLIG S W6V 2 6Terng)|

o Watch Video Solution

50. LNetteu@nd  &mmllest  wHULNMEG, LHMH  BHGI
2
(W &CaHMestTalLEY FMITLISHM6NE SHM6BoIHsind = — §,egr)rrez'fra:rrl_‘o

SHMMHLIG S W6V 2 6Terng)|

o Watch Video Solution



https://dl.doubtnut.com/l/_paDWl6Xr57if
https://dl.doubtnut.com/l/_DVhnVLnlPFFo
https://dl.doubtnut.com/l/_krPc2YScRYZS

51. LNestou(H LD smyL6sT LG LILNM(G, MM Bh& I (P &HESMessTA LI
FNMLU&S6e06NS  SMesoidhtanld = — 2, 0,Q630ILMD  SMMHLI(GS)Wilev

2 61Te G|

° Watch Video Solution

52. Mesteuplb  gmjilest  wHULNMEG, WLHMH  Bbh

. : . . : 13 o
(P&HCHMeTTTOIIWLIY  FTTLSHED6ETS EJHGG'OT&J.secH:?,O_I'_F)HGOTEJHLD

SMMHLIG S W6V 2 _6Terng|

° Watch Video Solution

cot(180° + 0)sin(90° — @)cos( — 0)

- - ~ = cos® cot 6
sin(270° + @)tan( — @)cos ec(360° + 0)

53. Hlep LU &8

o Watch Video Solution



https://dl.doubtnut.com/l/_CXTJMKXgOzl8
https://dl.doubtnut.com/l/_nfk0x37bNHOb
https://dl.doubtnut.com/l/_czz3o3HyT1Pc

3
54, sin?§ = Zsreifrg) FLO6STLIML 6D MHlemmey 6lFWwwibd 0° Q&G

360° Q&G0 QeNLLILILL HeM6DT5G |8 CoHMTET0IMHISH6016MS SIT6T0I5

° Watch Video Solution

55. (sin?) 7= + (sin%) 5 + (sin?) T2 + (sin?) %w — 261601 BTEGTL

° Watch Video Solution

V3cosz — sinx

56. M6y s:cos(30° + =) = 5

° Watch Video Solution

57. M6 &:cos(m + ) = — cos b

° Watch Video Solution



https://dl.doubtnut.com/l/_79Rnn44XQj14
https://dl.doubtnut.com/l/_J3LenrFRbNaN
https://dl.doubtnut.com/l/_PY9ABPj6RUOM
https://dl.doubtnut.com/l/_6mtrLVua4ZDQ

58. Him|6y&:sin(m 4 ) = — sinf

° Watch Video Solution

59. sin 15° LoMM)|bcos 15° Sh&lwleumenm CLOGVLISETTSHS bl&M6esoTL

Q(HLUIE FLOETUML 60L& SHM65015

° Watch Video Solution

60.cos(A + B + C) — allifleunsgs. Qi@ A+ B+ C = %6‘[6?5'[]6'1),
cos Acos BcosC = sinAsinBcosC + sin BsinC cos A + sinC sin A cos

61607 [H1 )16 &

° Watch Video Solution

61. 5 M6y &:sin(45° + ) — sin(45° — 0) = /2sinf

° Watch Video Solution



https://dl.doubtnut.com/l/_Te8XLBrMhSRO
https://dl.doubtnut.com/l/_CgDFM713Qbu8
https://dl.doubtnut.com/l/_TrldeXkjcHFs
https://dl.doubtnut.com/l/_JLjdBqTjekkr

62. 1M |6)&:sin(30° + #) — cos(60° — 0) = 0

o Watch Video Solution

63. acos(z + y) = beos(x — y)elévilev(a + b)tanz = (a — b)cot y

616015 SMevoTLi

o Watch Video Solution

64. H1()16)|&:sin 105° +cos 105° =cos 45°

o Watch Video Solution

65. H M6 &:sin 75° -sin 15° =cos 105° +cos 15°

o Watch Video Solution



https://dl.doubtnut.com/l/_JLjdBqTjekkr
https://dl.doubtnut.com/l/_27N1sSbzJFRE
https://dl.doubtnut.com/l/_Ni6B48Eb0pJm
https://dl.doubtnut.com/l/_DKOBGpU2TzkZ
https://dl.doubtnut.com/l/_YLnGTTINEj3P
https://dl.doubtnut.com/l/_20FViE61GSEp

66. HlM|6&h:tan 75° + cot 75° = 4

o Watch Video Solution

67. HimI6y:cos(A + B)cos C — cos(B + C)cos A = sin Bsin(C — A)

o Watch Video Solution

68. Himiels

sin(n + 1)@sin(n — 1)@ 4 cos(n + 1)@ cos(n — 1)8 = cos 20, n € Z.

o Watch Video Solution

2
69. wcosG=ycos(0+ ?ﬂ :zcos<0+4?7r)6ré'6ﬂ6'u Qe6tT

zy + yz + zzog) L6t &HM650TSH

° Watch Video Solution



https://dl.doubtnut.com/l/_20FViE61GSEp
https://dl.doubtnut.com/l/_C7qWK0aAuamj
https://dl.doubtnut.com/l/_8MB9MSpFRy1z
https://dl.doubtnut.com/l/_gcXxyjsPVvez
https://dl.doubtnut.com/l/_A6RUeWdyyY3j

70. M6y &:sin(A + B)sin(A — B) = sin® A — sin® B

° Watch Video Solution

71.1\mi6us:cos(A + B)cos(A — B) = cos® A — sin® B

° Watch Video Solution

72.5\m|6us:cos(A + B)cos(A — B)cos® A — sin’? B = cos® B — sin® A

° Watch Video Solution

73.15\mI6us:sin’*(A + B) — sin*(A — B) = sin2A45sin2B

° Watch Video Solution

74. 15 M6 &:cos 86 cos 20 = cos® 56 sin” 30

[ o~


https://dl.doubtnut.com/l/_A6RUeWdyyY3j
https://dl.doubtnut.com/l/_zNiH6U53OOIe
https://dl.doubtnut.com/l/_ceBRBJBrmRnu
https://dl.doubtnut.com/l/_kRQp6uTNtGge
https://dl.doubtnut.com/l/_o8B65cJIgwxz

[ W Watch Video Solution ]

75. cos® A + cos® B — 2cos A cos Bcos(A + B) = sin*(A + B)ereoié

SmesorLi.

° Watch Video Solution

76. cos(a — B) + cos(B — ) + cos(y —a) = — =

cosa + cos 8+ cosy = sina + sinf + siny = 0

° Watch Video Solution

1+tan A

77.ta,n(45° + A) = m

o Watch Video Solution

B 1—-tanA

78.tan(45° — A) = m



https://dl.doubtnut.com/l/_o8B65cJIgwxz
https://dl.doubtnut.com/l/_ZSC0lEqXRJU2
https://dl.doubtnut.com/l/_Ogfz9L2qaRhG
https://dl.doubtnut.com/l/_AlcEAQPKPwoX
https://dl.doubtnut.com/l/_sLC1YWvl1V0h

| ¥ Vvvailcn Video solution )

cot Acot B —1
cot A + cot B

79. hmiels:cot(A + B) =

° Watch Video Solution

80. tanz = ——Lhyib tany = eTeofley  tan(z + y)2&

+1 2n +1

SHI165015.

° Watch Video Solution

e 37

81. HImi6s tan(z + 0),tan(T + 0> = -1

° Watch Video Solution

1 3 5

82. cota = 20 € (7r, %)LD[D@JL’DseCB = g,ﬂ S (g,ﬂ') 6760716V

tan(a + B) Q6T LD SHT6301S

e I


https://dl.doubtnut.com/l/_sLC1YWvl1V0h
https://dl.doubtnut.com/l/_Xq66G5QdsGvD
https://dl.doubtnut.com/l/_T0apt5sX3pdh
https://dl.doubtnut.com/l/_bQCiY85RIiPI
https://dl.doubtnut.com/l/_UQfYezFWgvK0

| ¥ vvatch video sSolution J

sin 61607
k+1

8. 60+ ¢ = awmmbtand = kelevlleusin(d — ¢) =

Himiels

° Watch Video Solution

84. A(pgev HMMHUGSUNeL Q([H&HGLCLNG| cos 24661 OFILIEHILI

) 15
SMevorghcos A = —
17

° Watch Video Solution

85. A(pgev HMMHUGSUNL Q([H&HGLCLNG| cos 24661 OFILIEHILI

) 4
SHM6ooTHsin A = 5

° Watch Video Solution



https://dl.doubtnut.com/l/_UQfYezFWgvK0
https://dl.doubtnut.com/l/_n2aGUAXqqoe1
https://dl.doubtnut.com/l/_jakYLCKPYo00
https://dl.doubtnut.com/l/_La9dQ4mJjPmU

86. A(LpGev HMMHUGSIUNL Q([H&HGLCLNG| cos 24661 OZ)LIEHILI

S1660TSht = 16
ana — 63

° Watch Video Solution

1
87. (b (BHMINICSHTETTID  6l6vfley sinf = —-eTenILb GuIng|

. 7r_0
sin| = — 5

o Watch Video Solution

88. f@@h (BHMIHICHTOID  6l6viley sin0=§6r@_|L’D GuImg)

T 0
COS Z—E

° Watch Video Solution

1 1 1 1
89.cosf — — |a + — |eTevflevcos 30 = — |a® + — | 61607 SMeBoTL
2 a 2 a’

o Watch Video Solution



https://dl.doubtnut.com/l/_4MNNxpCNcMlD
https://dl.doubtnut.com/l/_aAW2DMV5Q8WD
https://dl.doubtnut.com/l/_pvlaWjvNHnCn
https://dl.doubtnut.com/l/_wp3Z4nfTa0rz

90. cos 50 = 16 cos® @ — 20 cos® 6 + 5 cos Oeteot Hmieys

° Watch Video Solution

tan? o

9l.sinda = 4tanael — ———————— 67607 6o
1+ tan? @@J

o Watch Video Solution

92. A + B = 45°er60fl6v(1 + tan A) (1 — tan B) = 26T60T HM 615

o Watch Video Solution

93.tan(% + 0) — tan(% — 0) = 2tan 2061601 HM) (615

o Watch Video Solution



https://dl.doubtnut.com/l/_wp3Z4nfTa0rz
https://dl.doubtnut.com/l/_KK4oTmZuNdr0
https://dl.doubtnut.com/l/_oTHFBKtEDMj6
https://dl.doubtnut.com/l/_HQrqegQlTNuc
https://dl.doubtnut.com/l/_FO5H6qFrnwXq

94. (1 + sec26)(1 + sec40)...(1 + sec2"f) = tan 2"0 cot HeT6v1S

Himie|s

° Watch Video Solution

95. 32(\/5) sin(418)cos (418)005 (%)cos(f—z)cos (%) = 36T60TS
Himie|s

° Watch Video Solution

96. LiletTeu(HeUETTEUMEMME Snl L6V S16V6VE| SLOIGGH6EVNTE &nl)|5

sin 35° cos28"@'

° Watch Video Solution

97. UletTeu(HheuesTauMenms Snl L6V HVEVG| HLOIGSHEVMTS &nl)|5

sin 4x cos 2z

| e |


https://dl.doubtnut.com/l/_SHvizQIHtePo
https://dl.doubtnut.com/l/_HepvXT8eAGUH
https://dl.doubtnut.com/l/_gEJN43Zk1Ela
https://dl.doubtnut.com/l/_IsIVMSv7JEIJ

l & Watch Video Solution J

98. LiletTeu(HeuetTeMEnME Snl L6V S16V6VE| SIS GH6EVNTE &nl)|5

2sin 100 cos 260

° Watch Video Solution

99. LiletTeu(HeUEHTEUMEMME Snl L6V S16V6VE| SLOIGGH6EVNTE &nl)|5

2 sin 500 cos 20

° Watch Video Solution

100. LietT61(IHheuetTaUMEnME Tnl L6V H6V6VG| HLHIHHEVTSH &nl)|s

sin 50 sin 460

° Watch Video Solution



https://dl.doubtnut.com/l/_IsIVMSv7JEIJ
https://dl.doubtnut.com/l/_5jsCy38DxDAi
https://dl.doubtnut.com/l/_o8BvCBKHLC5F
https://dl.doubtnut.com/l/_GvFwsgSmZcyk

101. L5161 (TH6UEBTEUMED M) 6lLI(TH&&H6VME Sn)|&sin 75° — sin35°

° Watch Video Solution

102. LN 65161 (Th6U6BTEU MHEMM 6l1LI(H&S6VMS Fn.M)|8 cos 65° + cos 15°

° Watch Video Solution

103. L65T6U (TH6U6BTEUMEDM 6lLI(H&SH6VMS nM)|8 sin 50° + sin40°

° Watch Video Solution

104. Lil6t16u (TH6U6DTEUMHEmM 6lLI(TH&HSHEVME SnM|&Cos 35 0

° Watch Video Solution

1
105.sin 12°sin48°sinb54° = geraﬂés &mesorLi)


https://dl.doubtnut.com/l/_Q9bJfybUrD4o
https://dl.doubtnut.com/l/_xFtTSnUTdVzU
https://dl.doubtnut.com/l/_kDPZP3eUV8Wi
https://dl.doubtnut.com/l/_gbZLYsfFGaRG
https://dl.doubtnut.com/l/_2muSvsOz9ndN

° Watch Video Solution

106.

(7‘(’) 21 3 47 5 6m i
cos 15 , COS 15 , COS i , COS i , COS 1= , COS 1= , COS 5

=1/128

° Watch Video Solution

107. HmIe&sinz + sin 2z + sin3z = sin2x(1 + 2cos x)

° Watch Video Solution

sin4x + sin2x
108. & = tan 3z
) Diex cos 4x + cos 2x

° Watch Video Solution

109. HIMI61&1 + cos 2z + cos 4z + cos 6z = 4 cos  cos 2z cos 3z



https://dl.doubtnut.com/l/_2muSvsOz9ndN
https://dl.doubtnut.com/l/_MFYbgC5zcdRp
https://dl.doubtnut.com/l/_nEAm0anp1vxl
https://dl.doubtnut.com/l/_aMkIZ7YmwKce
https://dl.doubtnut.com/l/_ny8CKNQAn5Cr

| ° Watch Video Solution

110.@@]6)4&sin(§)sin<%0) + sin(3—20)sin<17w) = sin 260 sin 50

° Watch Video Solution

1. Hmi6|s

1
cos(30° — A)cos(30° + A) + cos (45‘4)cos(45O + A) = cos2A + 7

° Watch Video Solution

. .. 9 . .
sinz + sin“x + sinbx + sin 7z
112. &: = tan4
DS]@'IQI cos & + cos 3x + cos bx + cos Tz ansr

° Watch Video Solution

sin(4A — 2B) + sin(4B — 2A4)
cos(4A — 2B) + cos(4B + 2A) = tan(A + B)

113. HIM |61 &:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ny8CKNQAn5Cr
https://dl.doubtnut.com/l/_Q57ntIk8ce15
https://dl.doubtnut.com/l/_ARGzmHHTPZ0n
https://dl.doubtnut.com/l/_sYEKIx3mLBJK
https://dl.doubtnut.com/l/_lP4mmgRTYObS

4cos2A
14.cos(A + 15°) — tan(1l — 15°) = HC;);,ZAGIGGT& &esorLl
sin

° Watch Video Solution

N5. A+ B+ C = —180°erevflev, Liettau(heueniaumenm mHlmiels

sin2A + sin2B + sin2C = 4sin Asin BsinC

° Watch Video Solution

6. A+ B+ C = —180°erévilev, LiletTeu(heuesieumenty mHimi6ys:

sin? A + sin’ B — sin’ C = 2sin A sin B cos C

° Watch Video Solution

N7. A+ B+ C = —180°erévilev, LiletTau(heuesieumenty mHimi6ys:

(ta,n)% + (tan) 5 + (tam) - + (tan) 5 + (tam) 5 + (tan)% —1

~


https://dl.doubtnut.com/l/_lP4mmgRTYObS
https://dl.doubtnut.com/l/_iPLka20FyTkd
https://dl.doubtnut.com/l/_0EI5H6qWqvMI
https://dl.doubtnut.com/l/_rqPnA5mECpN5
https://dl.doubtnut.com/l/_OutIA0oZLL5W

| ° Watch Video Solution

18. A+ B+ C = —180°erévilev, LiletTeu(heuesteument hHlmies:

sin(B+ C — A) +sin(C + A — B) +sin(A + B — C) = 4sin Asin Bsin

° Watch Video Solution

119. A + B + C = 2se16pilev,

sin(s — A)sin(s — B) + sinssin(s — C') = sin A sin BeleoT [h0)6)5

° Watch Video Solution

120. T +y+z==zxyz

2z Y z T Y z
+2 +2 — 9 2 2 sT6oT
1— 22 1—y? 1— 22 1—a22 1—g2  1—22

HlmIeys

° Watch Video Solution



https://dl.doubtnut.com/l/_OutIA0oZLL5W
https://dl.doubtnut.com/l/_gtIG64ApbKTg
https://dl.doubtnut.com/l/_UtMlLQLZNAn9
https://dl.doubtnut.com/l/_2lyGCWLlQJLX
https://dl.doubtnut.com/l/_4AFmkPop0gpO

120 A+B+C= %G[GUﬂG'U LiledTeum|euesTmemnm HlmI6s.

sin2A + sin2B + sin2C = 4 cos A cos B cos C

o Watch Video Solution

1222 A+B+C= %aaxﬂe’n LNetteumleuesimemnm  mHimies.

cos 2A + cos 2B + cos2C = 1 + 4sin Asin BsinC

o Watch Video Solution

123. A ABCOsmGanemid (péCamemid wiHmid/A = - aesley,

LN 6tT6u(IHeUETTOUMED M HlM|6U&.sin® B + sin C = 1

o Watch Video Solution

124. Uetteumieuenimemm (LPS6oTenD ey  LMHMID  6lLINGIS

1
ﬁl‘JGuH:Gmerr& SHM66015H sinf = ——
V2

| o WMl L\ dan Ol iklmn


https://dl.doubtnut.com/l/_4AFmkPop0gpO
https://dl.doubtnut.com/l/_VGirxhUCTnBm
https://dl.doubtnut.com/l/_pHFlaBWBNiTn
https://dl.doubtnut.com/l/_1086gjwsaoe9

& ___ryvalillil VIUCU JViutuiviil )

125. Uetreumieueninenm (PG6sTend ey  mmID  ClUNgs

81761 8606MM& SMessThCot § = /3

° Watch Video Solution

126. LetTeumieueniNenm (PG6oTEOLD ey  LMHMID  ClUNgIs

1
81761 560)61& SHMevoIdHtand) = — ——

V3

° Watch Video Solution

127. 0° < 6 < 360°eT65TM) QevL_6leuefiufiey HLDSH6ETOTL

FLo65TLIN(R & (6Th& (&) FINWIETT &6 &HED6N HMesols sin = sin® z

° Watch Video Solution



https://dl.doubtnut.com/l/_1086gjwsaoe9
https://dl.doubtnut.com/l/_H43rkDX22jSj
https://dl.doubtnut.com/l/_FfevIRRdHyGl
https://dl.doubtnut.com/l/_Da8Xk0uNI9f9

128. 0 ° < O < 360 c%aletim Q6oL bleuellulley SLpsesor

FLOSTUMH B(6Th& (& FIfWIMEDT ST6USHED6T HTEBBTS: cos2x=1-3sinx

° Watch Video Solution

129. Lil6tT6U(TH LD FLo6TLIM(H &H606T S7&H&H6YLD sinbx — sinz = cos 3z

° Watch Video Solution

130. LN 6tT6U (1H LD FL06TLIN(D S606T 87&H&6a D2 cos® 6 + 3sinf — 3 = 0

° Watch Video Solution

131. LNl 68T6U (TH LD FLO6BTLIM(R &H6m6M SIé&eLD cos § + cos 30 = 2 cos 20

° Watch Video Solution



https://dl.doubtnut.com/l/_xnTGM5C2PPCs
https://dl.doubtnut.com/l/_erdFVNTLTH8T
https://dl.doubtnut.com/l/_xJvnvvd8LPjy
https://dl.doubtnut.com/l/_lih6sxHKEbzf

132, LN 65T6U (MH LD FLo6sTUM(H &H60)61T 8758610

sinf + sin30 + sinb0 = 0

° Watch Video Solution

133. LN 65T6U (MHLD FLo6sTUM(H &60)61T 87586LD

sin 260 — cos 20 — sinf@ + cos @ = 0

° Watch Video Solution

134. L6861 (THLD SFLO6TLIM(H HEM6T &T&H &L sin @ + cos § = /2

° Watch Video Solution

135. Lil6tT6u (MH LD FLo6TLIN(H &H6016 S7&H&H6YLD sinf + /3 cosf = 1

° Watch Video Solution



https://dl.doubtnut.com/l/_967jPa21BHu3
https://dl.doubtnut.com/l/_JKvsqQOqjP91
https://dl.doubtnut.com/l/_6rJKEqhwuvqJ
https://dl.doubtnut.com/l/_xZav7DhkMoDm
https://dl.doubtnut.com/l/_3BMud7DXr3aR

136. Lil6tT6U (TH LD FLo65TLIM(H &H6016T &7&H&HEULD cot 6 + cos ecld) = /3

° Watch Video Solution

137. LN 65T6U (MHLD FLo6sTUM(H &H60)61T 8758610

2
tan 6 +tan(9 + %) +tan(0 + %) =3

° Watch Video Solution

. . . . . 5+ 1
138. LN 65161 (IH LD FLO6BTLIM(H &H6016 S&HELD cos 20 = \/_4
° Watch Video Solution
139. LN 65T6U (MHLD FLo6sTUM(H &H60)61T 8758610

2cos’z — Tcosz +3 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_3BMud7DXr3aR
https://dl.doubtnut.com/l/_duy59ajOzzCT
https://dl.doubtnut.com/l/_VY1emPyv3PEy
https://dl.doubtnut.com/l/_1Kd48W8W6HEB
https://dl.doubtnut.com/l/_eNADAnHWemBk

sinA  sin(4 — B)

140. A ABCQ&v —— =
8 sinc  sin(B — C)

eTevflev,a?, b, > Sh&wene

@ (H'InL_ (55 6IHMTLIJ 6uflenduilev SI6mLOWILD 6T60T [HM)|6) 5

o Watch Video Solution

141. A ABCQ6t1 GamesoimidhelT (b enl (B8 615ML auflemauilev

SIenLOWLD LMMILD: ¢ = 1/3: /2 eT6vfl6v, LARE SMevo1s

o Watch Video Solution

eTevlley, 6&(H QUIHFLWSS

142. A ABCQévcos C = 5

(P &HCBHM6TDILD 616018 SHMesorL)

o Watch Video Solution

143. A ABC@Q6vacos A + bcos B+ ccosC = 2asin BsinC  elé6oT

Himiels

| oo ]


https://dl.doubtnut.com/l/_eNADAnHWemBk
https://dl.doubtnut.com/l/_u3DiFoFNDGEq
https://dl.doubtnut.com/l/_Md9sKkY5qHex
https://dl.doubtnut.com/l/_2GnJUGYsyEn5

| & Watch Video Solution I

M¢z&ABQ@@AA:6Wb+c:2a<B_C>awuﬂ@m&

° Watch Video Solution

145. A ABCQe6v Uletleu(heuesimemm Mmimieys a sin(A/2 +B)=

(b+c)sin(A/2)

° Watch Video Solution

146. A ABC'(@G'U(G,2 — b+ cz)ta,nB = (a2 + b2 — cz)ta,nC’ 61607

himies

° Watch Video Solution



https://dl.doubtnut.com/l/_2GnJUGYsyEn5
https://dl.doubtnut.com/l/_KyKoXcVwzWtQ
https://dl.doubtnut.com/l/_lnmffYqw7Kx2
https://dl.doubtnut.com/l/_iK49OrGwklm3

147. @@ HIToHHeL (hH GlUMMIWET] 12015 & MHMeeeTerT
(W &C&M6sDTLD allq6l L MBI 8160161 6L EUEDLDEHS
(LpemersImmy.Lyaissneilest LFLUL SHSSHULFNS QH&HE DL

SO &HSLILI(BLDCLIMG | 15607 LISE SH61T6) 5H60)6IT SHIT6T0I5.

o Watch Video Solution

148. 1205 henpeten @® suim OSTEESUULE HDHS
el&mesor(h AHSLIL &L LriyemLw e &HCMeToTLD

SUEDDSHSHLILILLTOV S1G60T LISHS H6M6YHeD6NE SHMT6T015%

o Watch Video Solution

149. emget &g  SpFwemeusdemen ULWeTUBHS  ailpey

&5 15605 al(bHall

o Watch Video Solution



https://dl.doubtnut.com/l/_dK2Dr3rRuUKd
https://dl.doubtnut.com/l/_7qaHwzGK93iy
https://dl.doubtnut.com/l/_oTJkHpFNOCBE
https://dl.doubtnut.com/l/_Zinij8Lin9Pk

150. Glamemasst el ShHWemeusenen LWeTLGSHS ailpey

&5 15605 al(bHall

° Watch Video Solution

151. /B =88°a = — 23,b = 261601  SI6MEUSHED6ENSH  6lSHM6evoTL
(P &HCHMETOIRIGHET  665TMIT S16V6Vg|  QEBUILM?SI6V6VG| (P&
CarMesoTld uet W QuieVngn? (LP&HCSHMEsoTD 2 6301(H 6165116V, S1865T

Sieme6l SMesoIs

° Watch Video Solution

152. A ABC@Q6v a=4,b— 6MHMbc = 8 6T60fl6V

4cos B + 3cos C = 2616018 &MesorLil

° Watch Video Solution



https://dl.doubtnut.com/l/_Zinij8Lin9Pk
https://dl.doubtnut.com/l/_E5JvKnEUYkSC
https://dl.doubtnut.com/l/_WNUw9TGY5Nt3

153. A ABCwmnmiba = /3 —1,b= /3 +1 e16sfl6uC = 60°

CLPEBTMITEUE | LISHESHLD oMM (LD Q) (H C&HT6TsIHISHEm 6N SIT65015

° Watch Video Solution

154. A ABCQ6va = 1261&.15 b=861&.L5 Lomm|Ld ¢ = 30° 6l&.L06T6vfl6v

(P &CHMeTBTE H 65T LITLILI245.61F.L5 616518 SHMEsoTL

° Watch Video Solution

155. A ABCQ6va = 180&.15b = 246la.15 LHMID ¢ = 30618.15

eTevflev (Lp HCahMestIgS6tT LIMLILI2168.618 15 616578 SHMevorLil

° Watch Video Solution

156. L LO1& Siquilev Gl Crhi&HGaMLLq6v S460IL0Th & |66 Q 76tor(h

CleucuCGeum| (Bseflev AMmIb Belestm Qnnemiel eifiseT


https://dl.doubtnut.com/l/_yDsbb5yjUd5H
https://dl.doubtnut.com/l/_9KH35cxAmf1K
https://dl.doubtnut.com/l/_2Y9fh95qy0Hp
https://dl.doubtnut.com/l/_gLYRhgbFprhk

LgIkigl emey 2 Hullev e(h 26n(h(HLEUED] SHeuesigHT A
HMID  Bell(hhgl ean(BhuUeufledT CoHMetomhismeT  HpsG
gengullev (PeomGw 30° wHMID 45° MM A&G B&G
QenLLILILL Qgmeneve) 58 .L5 .eTesllev Bedl(thihg| 26m (B (hLieuflest

615 Mem6Va60)60T& SHM6TOTS.

o Watch Video Solution

157. &(H SHymwsdHwmneny 6 (SHENGHP6T  HVENS
H&SHe0 (hHG CMHenss sfwng Semailey (PLWnseLng|
AMGSH Gevormlw allempslmmiy.Iuemerflullefl((hhg| (&6 alest
F&E LG ullev (Lpemest 851.L5 g Meneualley|b 168 FLows ey
Cm©@ uEdule (pemeot 68 L5 6lgmemevailsy|ld 2 6fTereot
LOMHMID Pem)WULD SIp&(& LIGSIWI6sT (Lpem6oTauns Q666001850
Camligm@,Peywiwd  Gm@ uw@duwlev  (LpemestemwiuLd
Qevr6to1SH G CaHMigMGLD QevL LIl L Gamesorid 60° eTevflev

(561158651 S156V860)8) &IT630T

o Watch Video Solution



https://dl.doubtnut.com/l/_gLYRhgbFprhk
https://dl.doubtnut.com/l/_AoPZUgMIoehw

158. &HL6V DL L5816l ((hHG| ) o wfgglev
eurigmenadlfl(@Lmellell(hrhg| Gev AwmmIb Belesim Qesor(h
SL MU 6l e SHMLIL[[&H6IT 615 meme6uhs LL6D&E
G5B HetTMeor 10815 . QemLGleuelluNey SemEUSET LIME(GLDELINE]
9G6sT  emUeUL(H&H6T &Gy  CmrgHglev Sihgd LLeOSL
LMT&SmTeer. Asl(bhg ULE 68 5 GMisslev 2 eTeng|.
Ced, GCaM(H&glesor(h ABLUL&6 GG Gsmevord 60°

6160116V, M) (&LD LILSM(GLD 2 6116 618 Men6venI6U s SM65015

o Watch Video Solution

159. @(H Lem6eL aUPIWNG 6(hH GCHISH (§H60& HeMLDSHENSWI6V
LDEM6VE(G 618G 2 6erm Peteotm) Llemerilwiledl((hhg| Loemevuilest
Qm  (pemest&eT  AMmMID B emem  [HIEULDETLILIGT]
SHMeEsTH MMT.AP=38).L5 BP=5&.L5 esflev/APB = 120°

LD6DY6L & (G em U6t 1688 6m68T SHMevoT

o Watch Video Solution



https://dl.doubtnut.com/l/_woBa4J046Gzp
https://dl.doubtnut.com/l/_dic202ztailq

160. 120S11q LoMHmILD 60911, L1 &8I &6 65T H6IraI &6lT
SleummimslemL Ll L. GaMesoild 60°2. 6oL W &b  (LP&HGSMevor
allq6U Hlevdend (b efleuamuil eunmig all(hWLUSIMMT.e([hH &8I
SHhEl MHlevgdledt ellemev I5006eT60fl6V, SIHG MHEVLGHENE 6UMMRIS
CoHemeUWIenT 6lILOMESSE 6l&Mens 6T6U6l6Te?GLOGYID  HleVSEl60T

GrMMeemn 6l SHT65015.

o Watch Video Solution

161. & GuUMj 6IQL allomesTd  SlevL DL L DM&SHL  LIMhHE]
LhSlwjeitenn (b &1M)| Qev&Hensd Géhs Ceuessi(hLD.Sielalleushens
amesll 30° Qmé&sd CaMesuigiHley LIMTSSMMTI008).5 .LiNhS
LNt WesoT(hld 1Cs QevdHend 60° Qmés  Coesors g ev
UMi&@Leung| Sibhg Chrssev 6lgLl  ailomesrg g m@wn

Q6V&581M)(GLD 2 6116 618 M60I6V6) 6161666 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_22Ns1nTBvOR7
https://dl.doubtnut.com/l/_wcnM3ztOxfJu

162. &(H &flMesTD EMLDEVSHEVESIS (HhH&| 1 . 5516V
LUM&SS MG |.21hG CHij&HEHev LMEIMTEST)| 60106V SHEVEY|L 65T 2 6iT6rT
b 2 . Q6toi(h  6MD6V  HEVSH(EHD  GIILDITEBTSH G, (L 60T
MG GConevoild 45°6l6sflev  QT63oT(H  6MLDEV  &H6VS(ETHS(S)

Q6L LILILL GTJLD 6T65T60T?

o Watch Video Solution

163. & (H6U6ST SMemey HemL Luilmesl Cung| Aeresim Liememuiley
ClgMLmigl Biomm|b Copslw LieTerlserflég s blaein| Qmigluiley
WesoT(HD  Aemed  auhgemL & mmi.(p&Hesnesilo ABC Qe
ZY = 60° oHmILb B = 45° AC = 48).106e16vflev,S16117 HLIHG

61055 8) 615 TEDIVEDIEUE SHITETOTS.

o Watch Video Solution

164. Qj6501(H EUMSHEDIMRISET 62 (T Li6feril ullel(hhg| 6 Gy CmhiTggev

ClaMLmgl Q(h eleucuCeum| gmenevaeriev Liwessllasimel. 6


https://dl.doubtnut.com/l/_Uicdkton1vO9
https://dl.doubtnut.com/l/_i4LmkZk3vjRW
https://dl.doubtnut.com/l/_9WKirVzq3wHb

GUMBEBTLD 608 L0 /LD6vsfl LDMGIMM(MFH 6UM&HENTLD 8085 .15 /Lo6vof 6T6tT)
gnafl  Ceussdlev Liwesol &S ME|.siemiesol  Crijg g m& LWL
Mm@ SieleunsenmisseT Ammib By SiemL&lesimest.Canlh AB

SH6o18)| PQ6v &Mhi(G LD 68 MessLd 60° eT6vllev A B3 8163015

° Watch Video Solution

1
165.sin ! <E) Sh&IWeUMN6ST (LP 56016 DG LI6DILI SIT63615

° Watch Video Solution

166. cos ! <§)é_})aﬂu_l6)_|ﬁ)[m6iﬂ (LD BEBTEOILD D) L16DILI SHTEETTS

° Watch Video Solution

167.cos ec ™ ! ( — 1)Sp&WeUMMEST (LDGHEOTENLD DS LIETILI SHTETOTE

° Watch Video Solution



https://dl.doubtnut.com/l/_9WKirVzq3wHb
https://dl.doubtnut.com/l/_BPxvEkI1dYCX
https://dl.doubtnut.com/l/_51wqnJUDRGhd
https://dl.doubtnut.com/l/_wv71BnzYHxig

168.sec ' ( — 1/2) ShEWeUMMNEBT (LPSHEBTEOLD LOFILIEOILI SHTETIS

° Watch Video Solution

169. tan ~ ' (1/3) Sh& WeuMNI6T (P G6bTEMLD LoFILIEMLI SHT6TBIS

° Watch Video Solution

1 3
170. — — \/_ =
cos 80° sin 80°

A /2
B./3
C.2

D.4

Answer:

| ° Watch Video Solution


https://dl.doubtnut.com/l/_wv71BnzYHxig
https://dl.doubtnut.com/l/_0fzl6AgoEPoL
https://dl.doubtnut.com/l/_RIn89fnEs8Nh
https://dl.doubtnut.com/l/_1pvm2okC4yWI

171. cos 28° + sin28° = k3er16vfleucos 17° QedT LO&LIL]

k3
A —

2

B. — k"3/sqrt2’

Answer:

° Watch Video Solution

172.4sin’ z + 3cos® x + sin(%) + cos(%)@a')'r LSLIGILI(H &L

Ad+ 2
B.3 + /2

C.9


https://dl.doubtnut.com/l/_1pvm2okC4yWI
https://dl.doubtnut.com/l/_bs7tmfcUL3V2
https://dl.doubtnut.com/l/_GZp4T06IDUeO

D.4

Answer:

° Watch Video Solution

173. 5785

oo () (oo () (o).

A
B.

1
8
1
2

1
. —
V3
1

D. —sqrt2’

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GZp4T06IDUeO
https://dl.doubtnut.com/l/_KafcNEmKFN6x

3
174.7 < 20 < %aszsﬂs’u,\/2 + /2 F 2cos 40@ 65T &I

A. —2cos @
B. —2sinf
C.2cos @

D.2sinf

Answer:

° Watch Video Solution

175. Ifta,n40" — )\, then tan 140° — tan 130 _

1 + tan 140°tan 130°

1— )2
A
1+ )2
A

A.

B.

2
c1+ﬁ>—
A

1— )2

D.
A



https://dl.doubtnut.com/l/_35HEuh5FCVBy
https://dl.doubtnut.com/l/_unu0GvKhHVEj

Answer:

° Watch Video Solution

176.cos 1° + cos2° + cos3° + .... + cos179° =

A.O

B.1

D. 89

Answer:

° Watch Video Solution

1
7. fule) = + [sinkx + cos” :v] a6tis @i@zi € R wHmib k > 1

stevflev fy(z) — fo(x) =


https://dl.doubtnut.com/l/_unu0GvKhHVEj
https://dl.doubtnut.com/l/_T4Ms4YwnWzqe
https://dl.doubtnut.com/l/_Sk8uiPO69BDf

Answer:

o Watch Video Solution

178. Lil6tT6) (IH6u6BTOUM M6V 618)| SHIULIMETIGHEV6UsIN B =~ 3/ 4,c05 0 =~ 1,

tan ©=-25,sec0=1/4

i 3
A.sinf = — 1
B.cos0 = —1
C.tanf = — 25

1
D. = =
sec@ 1

Answer:



https://dl.doubtnut.com/l/_Sk8uiPO69BDf
https://dl.doubtnut.com/l/_2x7S6qiG3DOU

| ° Watch Video Solution

179. cos 20 cos 2¢ + sin®(0 — @) — sin®(6 + ¢) Qe6dT FLIL

A.sin2(6 + ¢)

B. cos 2(6 + ¢)

C.sin2(6 — ¢)
D.cos 2(0 — ¢)
Answer:

° Watch Video Solution

sin(A — B)  sin(B—C) sin(C—A4)

180. =
cos A cos B cos Bcos C cos C cos A

A.sinA + sin B + sinC

B.1

C.0


https://dl.doubtnut.com/l/_2x7S6qiG3DOU
https://dl.doubtnut.com/l/_yJJThXPkm5qF
https://dl.doubtnut.com/l/_eKTdIaCNXABO

D.cos A + cos B + cos C

Answer:

° Watch Video Solution

181. cos pf + cos gf = 0, p # g. n6JCHED)|LD (I (P(LD 616301 néT6vilev 0

eXl6oT LD LIL

m3n + 1
b—q
m(2n + 1)
pEq
m(n £ 1)
pEq
. m(n + 1)
ptq

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eKTdIaCNXABO
https://dl.doubtnut.com/l/_ti6NNCYm2u0N

182. 2% +az +b=0Q60T cPEUHRIGETtana WMHMIDtanF  eT6viey
sin(a + B)
sina sin 8

Q1 I

b
A —
a

Answer:

o Watch Video Solution

183. A ABC@Q6vsin® A + sin® B + sin? C' = 261676V SIHGS

(P &CHMETTILOMETS |

A FLOUSS (P &HCSHTEEOTLD
B. Q(H&FLLISS (LP&HCHMETBTLD

C. 615mICa M6t (L &GS M6soILD


https://dl.doubtnut.com/l/_uf1VwaGGuZ44
https://dl.doubtnut.com/l/_BSfZeMTAoTLK

D. SI1&L0L&S (P &HCSM6TOTLD

Answer:

° Watch Video Solution

184. f(0) = |sin6| + |cos 8], 6 € Retevilev,f(6)Siemowib QemLbleueri

A [0, 2]

B. [1,v2]
C.[1,2]

D. [0, 1]

Answer:

o Watch Video Solution

cos 6z + 6cos4dx + 15cos 2z + 10
185. =
cos bz + Hcos 3z + 10cos x



https://dl.doubtnut.com/l/_BSfZeMTAoTLK
https://dl.doubtnut.com/l/_reiBrYZoUIcP
https://dl.doubtnut.com/l/_jt2R13uB7Kqg

A. cos 2z
B. cos z(3)
C.co3zx

D.2cosx

Answer:

o Watch Video Solution

186. LOMMITE SMHMerTe] 1215 G\&HMeSoTL. (LP&HCHMEOTSE 65T HHSHLIL &
LITLILI6IT6) MevT G|

A 40 L&SHSHH60TH ClHMTEEOIL  FLOLHS (LP&HCSHTETOILONS
S{60LOW|LD

B.2W0 515 oMM 515 LISSMHISHEN6NS 68Tt Q(H SLLSS

(L &HCHMETBILOMS SI6DILDU|LD


https://dl.doubtnut.com/l/_jt2R13uB7Kqg
https://dl.doubtnut.com/l/_3KppYZrQAPn4

C315 45 LHMID 515 USSHHRIGHENETES 6lHMTIL (b
(P &HCHMETOTLD SIemLOW|LD

D. (Lp&HG&HITETTILD S16DILDUIMG)|

Answer:

o Watch Video Solution

187. @ (H'GHBHIIDNEOIG| 2SH6DMWITESTIHET SH6mailey V6156060861

FLOVSIMG|. 61601l 10 (P &FMHMI SGMHMIEUGHME 6155HEM60T
a1 &60)6V861T 61(H 5515 CISMET(EHLD ?

A. 107 afl&em6V861T

B. 20ma 1 &60060561T

C. 5rall&6m6V561T

D. 15mal1&H6m6V861T

Answer:



https://dl.doubtnut.com/l/_3KppYZrQAPn4
https://dl.doubtnut.com/l/_6YygSVayUa3K

| @J Watch Video Solution

188.sin a + cos o = béT6vileVsin 20 Q60T LOGHLIL

A.b < /26160060 b? — 1
B.b > +/t26r6vflev b — 1
C.b > \/26160flevimplies b — 1

D.b > 1/2e6vflev b? — 1

Answer:

o Watch Video Solution

189. A ABCQev

(AN . (B\. /c
A. 51n(7)51n(?>s1n<5) >0

B.sin AsinBsinC > 0

C. (NwmHmLD(IShSIW Q768o1(H LD 2 635T65)LD


https://dl.doubtnut.com/l/_6YygSVayUa3K
https://dl.doubtnut.com/l/_I0LB1tMYgRgy
https://dl.doubtnut.com/l/_oGU9ejMWMM4P

D. (1) L (KD 2_636T6DILD

Answer:

° Watch Video Solution

190.cos 1° 4 cos2° + cos3° +.... +cos179° =

A.O

B.1

D. 89

Answer:

o Watch Video Solution

1 .
191.secl = ¢ + E,Gra)‘ﬂa)sece + tanf =


https://dl.doubtnut.com/l/_oGU9ejMWMM4P
https://dl.doubtnut.com/l/_fCQJYXDyeP9f
https://dl.doubtnut.com/l/_xSyUZCDu41VM

C.—2 L

. — 2z, 2ac
<1)

D.—z, | — |,z
T

Answer:

o Watch Video Solution

5
192.sin (cos -1 <I_3> ) 66T DG LIL|

A —

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xSyUZCDu41VM
https://dl.doubtnut.com/l/_8rL7dOTMG4J2

. 1 ) _ 1 (e}
o3, 5010 —cos10 oo e
cos 10° + sin 10

A.tan35°

B./3
C.tan75°

D.1

Answer:

o Watch Video Solution

. -1 Y
194.&1@@](A):cosx=7Lom@JLDO<a:<27r,6reUﬂa)§UaJrr60‘rgu

2w An ; . . . . )
=555 SmewD (R) : (Pp6L LMHMID  [HIESISHMILD

SHMMHLIG S W6V cos (Gemm LGLILIemLWIG)].

A AbmmIbR  Qetsi(hlD 2 esoTemwWN@GLD  ReteoiLig| A

6160TL1 8601 &IflWIM6sT e16MT&&LOM(G)LD


https://dl.doubtnut.com/l/_8rL7dOTMG4J2
https://dl.doubtnut.com/l/_9kVFyvPAbpwx
https://dl.doubtnut.com/l/_YSEYZHpu3r53

B. AlbmMIIDR  Qnesoi(hdD 2 63sT6mIOWIMGLD  Reteotiigy| A
6T60TLI G607 FIflWMest al6T& S LD6V6Y
C. A2 636160 OWIMGLD ReT66TLIG | H6um| Qev6nI6u

D. A6T6dTLIZ) | §6UMM(GLDRETEOTLIG,| 2 635160 LOWIM(GHLD

Answer:

o Watch Video Solution

195. 6lLIM(HHGHTGeUMHeDM Qevr6voTenl Gg ey 61L&

1
A. Q176soTLMD SHMMHUGSH W6V sinx — ( — E)
B. (&M &MMHLIGSullev cosz — 1
C. @ 6oL &MMHL(Guilev secz — ( — 2)

D. CLP6STMILD SMMHLI(G G Wilev tan z — 20

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_YSEYZHpu3r53
https://dl.doubtnut.com/l/_BxE37pVxHsYM

196. Fflwnest gnmemm G IH618(H &5

A Thiemeuwinmest  &Mmerneud(g 6lamiGamesoild  (LP&HGSHMesoILD
Q&G UFLILeTenel CaL Lg(hH&H(GLD

B. HlemeuWINesT  &FMMeTeUdH(& &LSS (P&HCHMetoIDd 186
LTlLenemel CaLLg(h&(& LD

C. hlemeuwlinmest &MmeneYéh(g QHFLLSHS (LP&HCHMETEID Sig)s
LIFUUeTen 6l CaHL g (Th&(GLD

D. Hem6euWIMesT &MMeMeUdh(& FLOMM LISSHMHIGHEN6T 6laHMesorL

A& LgLILIeTen6l CaL L (hH&(GLD

Answer:

o Watch Video Solution

197. LiletT61 (IH 6L 6BTEUM M 6T LILIMTHTHS TS 6260T60ME C&TThH618(H &S


https://dl.doubtnut.com/l/_BxE37pVxHsYM
https://dl.doubtnut.com/l/_obyH4zBhNiBD
https://dl.doubtnut.com/l/_Ar5M5K9simUw

1
A. Eab sinC

1
B. EbcsinA

C. \/s(s —a)(s—b)(s—c¢)

VGE-BG -9
bc

D.

Answer:

° Watch Video Solution

198. 56U M6t Qemersien W G5iH615(H &S

A.
a b [
1. = = 2R
sinA sinB sinC
B.
e
5 | Bt —a cos A

2bc



https://dl.doubtnut.com/l/_Ar5M5K9simUw
https://dl.doubtnut.com/l/_R6S2Kea7ROxw

a-b C A-B
: cot — lan ——
3 a+h 2 J 2

D.
1 2
L +el=b cog C
2ac
Answer:

° Watch Video Solution

199. U MMesT Qemevoiem W G5iH615(H &S

A.sinz| — 1, 1] QevLbleuelullev Si6mLOMH G |6TTerg)|

B.cos z[ — 1, 1] @emL6leuerfluilev SiemLom g, 6feng|

C.tanz( — 00, 00) Q6vLbleuerlluilev <160)L0MH &, (6T6ITE|

D.cos z( — 1, co)QemL6leusriiuiley Si6mLorhG 66|

Answer:



https://dl.doubtnut.com/l/_R6S2Kea7ROxw
https://dl.doubtnut.com/l/_yqKXN2SCDU4K

| o Watch Video Solution

.. ™
200. 8j&&:tan 2z = — cot (:c + 3)

° Watch Video Solution

201. &(H&(§G:sin 100° + cos 100°

° Watch Video Solution

202. him|6&:tan 315° cot( — 405°) + cot 495° tan( — 585°) = 2

° Watch Video Solution

203. gIEOMWPHHHV(BHHG @b UL 108 15 .6Clgmemevey

HP&HEs Claevdmg .6l QL &HeMSLLSHSHD 60° CoHMevoigglev


https://dl.doubtnut.com/l/_yqKXN2SCDU4K
https://dl.doubtnut.com/l/_T2Y7vOOg4wbv
https://dl.doubtnut.com/l/_choHBvNSZDfY
https://dl.doubtnut.com/l/_JXz8yWyPOgHs
https://dl.doubtnut.com/l/_DBjrg1hVGbkY

H(HOLLLOeET(BL  LL(G 88 .5 .LlFedimmey  SHIUL MG

8160M (PSS M(GLD 2 6161 6l &T65I16V6m6US ST63018

° Watch Video Solution

A 5 C 2

a, b, c, A, P 6V 2_61T6IT60T 616015 SHIT600TH

o Watch Video Solution

205. 88 LS el L (p6Ten eIl L ellgel W([HSSHMLS  Lyraisn
QRETTEMMN  SMSHS  SUH  HLLIBSIMG|.  HTeVHEmL
LO(H&HG|CULDED6TT HeDWOSHSH 4 . HeM(LPemL W GUL_L hHIT6ToT
6l&M6ToTL. QUL L 58 |680T(H SeolWING 68|85H8LILIH & ME|.8M6VHesIL
LD(HGHGEULDEDETT HDWDEHSH RFH|SHHLLILL  6ULL 5F|600TLq60T

LITLI6D LI &IT65015

o Watch Video Solution



https://dl.doubtnut.com/l/_DBjrg1hVGbkY
https://dl.doubtnut.com/l/_yaVvwJ1a254W
https://dl.doubtnut.com/l/_XONJQopG97Fj
https://dl.doubtnut.com/l/_5oU1mMSI6l0k

3
206.@@&1&&(:052:3 + cos? (:1: + %) + cos? (ar: — %) =5

° Watch Video Solution



https://dl.doubtnut.com/l/_5oU1mMSI6l0k

